INSTALLING THE HEADREST

The Headrest can be mounted to the backshell using 2x 2-hole slide nut, 2x
MéxIx16 bolts, 2x 1/4-28 x 5/8” machine screws, and 4x washers.

I. High mount position Headrest installation III IZI
a. Mount the headrest and bracket (A) as shown, using 2x Mé bolts and
washers (B), and the 2-hole slide nut.
b. After adjusting the headrest to optimum support position, use the 4mm
hex key to tighten the screws

2. Low mount position Headrest installation E . IEI

To mount the headrest in the low position, invert the bracket(A).

b. Using the 2x Mé bolts and washers (B), and the 2-hole slide nut, attach
the bracket as shown.

c. To orient the headrest (D) right-side up, use a 3/16” hex key to remove
the two 1/4-28 x 5/8 headrest screws (C) orient the headrest as shown
and re-attach the screws.

d. After adjusting the headrest to optimum support position, use the 4mm
and 3/16” hex keys to make sure the screws are tight

ISO0131 Rev.A




